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Comprehension Test for Bank Exams (IBPSPO, SBIPO & RBI Grade B)
Comprehension Test Quiz 83
Direction: Study the following imformation carefully and answer the question given below
Paragraph 1: About three-quarters of the way along one of the snaking production lines in Nissan’s Sunderland plant, a worker bolts fuel tanks into the chassis of countless Qashqais—the “urban crossover” SUVs which are the bulk of the factory’s output. But every so often something else passes along the line: an electric vehicle called a Leaf. The fuel-tank bolter changes his rhythm to add a set of lithium-ion battery packs to the floor of the Leaf. His movements are so well choreographed with the swishing robotic arms around him that he makes the shift from the internal combustion engine to the battery-charged electric vehicle look almost seamless.
Paragraph 2: Until recently, it was a transition that many found unthinkable. The internal combustion engine has been the main way of powering vehicles on land and at sea for most of the past century. That is quite the head start. Though Leafs are the world’s biggest-selling electric vehicle, the Sunderland plant, Britain’s biggest car factory, only made 17,500 of them last year. It made 310,000 Qashqais. And the Qashqais, unlike the Leafs, were profitable. Nissan has so far lost money on every Leaf it has made.
Paragraph 3: There were 750,000 electric vehicles sold worldwide last year, less than 1% of the new-car market. In 2011 Carlos Ghosn, boss of the Renault-Nissan alliance, suggested that his two companies alone would be selling twice that number by 2016, one of many boosterish predictions that have proved well wide of the mark. But if the timing of their take-off has proved uncertain, the belief that electric vehicles are going to be a big business very soon is ever more widely held. Mass-market vehicles with driving ranges close to that offered by a full tank of petrol, such as Tesla’s Model 3 and GM’s Chevrolet Bolt, have recently hit the market; a revamped Leaf will be unveiled in September. The ability to make such cars on the same production lines as fossil-fuel burners, as in Sunderland, means that they can spread more easily through the industry as production ramps up.
Paragraph 4: Many forecasters reckon that the lifetime costs of owning and driving an electric car will be comparable to those for a fuel burner within a few years, leading sales of the electric cars to soar in the 2020s and to claim the majority sometime during the 2030s. China, which accounted for roughly half the electric vehicles sold last year, wants to see 2m electric and plug-in hybrid cars on its roads by 2020, and 7m within a decade. Bloomberg New Energy Finance (BNEF), a consultancy, notes that forecasts from oil companies have a lot more electric vehicles in them than they did a few years ago; OPEC now expects 266m such vehicles to be on the street by 2040. Britain and France have both said that, by that time, new cars completely reliant on internal combustion engines will be illegal.
Paragraph 5: That this is even conceivable is a tribute to the remarkable expansion of the lithium-ion battery business—and to the belief that it is set to get much bigger. The first such batteries went on sale just 26 years ago, in Sony’s CCD-TR1 camcorder. The product was a hit: the batteries even more so, spreading to computers, phones, cordless power tools, e-cigarettes and beyond. The more gadgets the world has become hooked on, the more lithium-ion batteries it has needed. Last year consumer products accounted for the production of lithium-ion batteries with a total storage capacity of about 45 gigawatt-hours (GWh). To put that in context, if all those batteries were charged up they could provide Britain, which uses on average about 34GW of electricity, with about an hour and 20 minutes of juice. In the same year production of lithium-ion batteries for electric vehicles reached just over half that capacity: 25GWh. But Sam Jaffe of Cairn ERA, a battery consultancy, expects demand for vehicle batteries to overtake that from consumer electronics as early as next year, marking a pivotal moment for the industry. Huge expansion is under way. The top five manufacturers—Japan’s Panasonic, South Korea’s LG Chem and Samsung SDI, and China’s BYD and CATL—are ramping up capital expenditure with a view to almost tripling capacity by 2020 (see chart 2). The vast $5bn gigafactory Tesla is building with Panasonic in Nevada is thought to already be producing about 4GWh a year. Tesla says it will produce 35GWh in 2018. Just four years ago, that would have been enough for all applications across the whole world.
Questions :
1. What is the opposite of the phrase “Until recently, it was a transition that many found unthinkable” as mentioned in the Paragraph 2?
A. Electric cars cause pollution indirectly. While themselves being clean, there are toxic elements within batteries and which could spew toxic fumes. Further, the car’s engines are powered by electricity, and all of which isn’t generated from renewable energy sources. This means electric power production per se entails pollution.
B. Most affordable electric cars only have about 80 to 100 miles of range, and take hours to fully refuel. As a result, nearly all electric car drivers experience range anxiety and need a back-up range-extending engine or else better route planning
C. Currently, the supply of electric cars outweighs demand. They are also costly as far as the sticker price is concerned and mainstream consumers put more emphasis on the upfront cost of a electric car rather than the lifetime cost
D. The vehicle manufacturing industry has been witnessing a slow but steady growth in the popularity of electric or hybrid vehicles over the years backed by adequate investment in R&D and incentives like tax breaks and subsidies from the government
E. None of the above
2. What could be the possible reason for being “well wide of the mark” in predicting car sales as used in Paragraph 3?
I.  The market is rapidly growing but has a plethora of different all-electric models to choose from and gives the consumer plenty of options.
II. The high cost of batteries means it still costs more to build an electric car than one with a traditional combustion engine. Few consumers are willing to pay a premium, even when subsidies and other state incentives are taken into account
III. Gigantic size of the automotive market- with around 2 billion cars on the roads around the world and an annual production capacity of roughly 100 million cars- it would take 20 years to update the global fleet. It means that once all new cars sold are equipped with a new technology, like electric propulsion, it can take up to 20 years to refresh the fleet.
A. Only (II) is correct     B. Only (I) is correct     C. Both (I) and (II) are correct
D. Both (I) and (III) are correct     E. All are correct
 3. What is/are the author’s viewpoint(s) in accordance with Paragraph 5?
I. The author views the growth of lithium ion battery with a skeptical eye.
II. The  author opines such a huge growth in batteries would create a glut in the market and lead to oversupply.
III. Lithium batteries are the future for electric vehicles and although currently their usage is not at par with that of consumer products, it is predicted to increase in the future.
A. Only (I) is correct     B. Only (III) is correct     C. Both (II) and (III) are correct
D. Both (I) and (III) are correct     E. All are correct
4. The author mentions “marking a pivotal moment for the industry” as used in Paragraph 5 with reference to lithium battery usage. Which of the following, if true, would aid in “marking a pivotal moment for the industry”?
I. Lithium ion battery packs for electric cars have fallen in price by about 80% since 2010, according to consulting firm McKinsey.
II. While electric motors are much more efficient than internal combustion engines, batteries can store only a small fraction of the energy in fossil fuels. Some of today’s EVs can run out of juice in as little as 100 miles
III. Battery makers increasingly require diverse skills, including cell-level chemistry, the complex electronics used in battery pack systems and power and thermal management software amongothers but most critical are cell design and manufacturing expertise. There is however, a dearth of talent for this currently in the industry
IV. A replacement battery pack for GM’s Chevrolet Bolt is priced at more than $15,700 (£12,150) – representing over 40% of the cost of the entire vehicle.
A. Only (IV) is correct     B. Only (I) is correct     C. (I), (III) and (IV) are correct
D. Both (I) and (IV) are correct     E. All are correct
5. Which of the following steps may be taken to boost the Electric vehicles segment in India?
A. Limiting registration of conventional vehicles through public lotteries and preferential registration for electric vehicles.
B. Bulk procurement of electric vehicles and building standardized and swappable batteries to bring down the cost as well as having favorable tariff structures for charging vehicles.
C. Incentivizing use of EVs by lowering taxes, interest rates on loans, electricity tariffs for fleet operators and duties on manufacturing such cars
D. All of the above
E. None of the above	
	
Correct Answers:
	1
	2
	3
	4
	5

	D
	E
	B
	B
	D



Explanations:
[bookmark: _GoBack]1.
The question seeks a statement which gives the circumstances for a smooth transition.
Option A talks about the harmful side effects of electric cars while option B states the drawback of having to refuel frequently and the accompanied range anxiety.
Option C talks about inadequate incentives, as far as price is concerned, to buy an electric car. All these are actually reasons why the transition to an electric vehicle is unthinkable.
Option D talks about the scenario which would aid in a smooth transition and is the answer.
Hence, Option D is correct.
 
2.
Here, well wide off the mark implies that the electric car sales were not in line with what the company had predicted and were in fact much less.
All the three options convey possible reasons why this could have happened- wide variety gives a lot of options to consumers and also bargaining power, high cost of batteries lead to higher overall prices and lastly the huge size of the automotive market makes it less slow to change as a whole. All these are valid possibilities.
Hence, Option E is correct.
 



3.
Paragraph 5 basically talks about  the tremendous boom in the lithium batteries, both in the consumer as well as electric car segments.
Statement I is incorrect as the author is very optimistic about lithium battery growth and expects growth.
Statement II is also incorrect as nowhere in the paragraph is it mentioned that the growth has or is inspected to lead to conditions of oversupply.
Statement III is correct in that it correctly states that lithium batteries are used more in consumer products but are expected to rise in the car segment too.
Hence Option B is correct.

4.
This sentence refers to the moment when demand for lithium batteries in electric cars would exceed that of demand in consumer product.
If you read the options carefully, Statement I refers to a scenario wherein the prices of lithium batteries would fall which would lead to an increase in its demand.
Statements II, III and IV refer to disadvantages of lithium batteries which would decrease the demand for such batteries.
Hence Option B is correct.

5.
For boosting electric vehicles, incentives and benefits need to be given. All the options given above are either a subsidy or an incentive.
Hence option D  is the right answer.
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